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— ~ Convert the following octal numbers to hexadecimal : (1) 766.35 (2)605.235 (10%)

= ~ Add the following numbers in binary. Use 2’s complement to represent negative numbers. Use a word

length of 5 bits(including sign).Indicate if an overflow occurs. (15%)
(H10+3 2)(-5+(-15 (3)9+8

» Show the following numbers in 32-bit IEEE format : (1) (18.5) 19 (@) (-9.25) 19 (10%)
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9 ~ Find the minimum sum-of-products expression for each function. (10%)
(1) f(a,b,c,d) = ¥m(1,2,4,5) +Xd(0,3,14) (2) f(a,b,c,d) = 1IM(0,2,4,6,8) -IID(1,9,12,15)
R8T 5 Unix #5454 © (1) who (2) 1s (3) cp file.c temp (4) pwd (5) cat (15%)
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.8 TCP(Transmission Control Protocol)$2 UDP(User Datagram Protocol)Z & & £ & - (10%)
- 243 (DDMA (2)pipelining  (10%)

ANSBHTHSHEFEMEZLEAFHERE) (10%)

(1)4% B 44 F 7% (Sequential Search) (2) = jt44 & 7% (Binary Search) (3)# % 4% % /& (Hashing Search)
(4) % 3 AR 34 F 7k (Fabonacii Search)(5)4& 4% #4 & ;& (Interpolation Search)

7. ~ Given the following Huffman encoding table, decipher the bit strings below. (10%)
(1) 1101110001011  (2)0110101010100101011111000

Huffman Code Character
00
11
010

0110
0111
1000
1011
10010
10011
101000
101001
101010
101011
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